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_ X2 7 ndf 36.43/57 |
| Mean 0.005151 + 0.1041
8000 — p0 —-372 + 323.7 F
: 16 __ Std Dev 0.7925 + 0.07358
6000 }— L
: L Underflow 0
- 14
4000 — - Overflow 0
2000 f 12 '_ —‘_ X2 / ndf 6.361/5
o r | 1 l '[ | . I | ‘ I 1 Il l I ) E Constant 16.23 +2.81
10 " Mean 0.09641 + 0.10210
2000 l 1 ‘ l ‘ l ‘ l l ‘ I
: Sigma 0.6876 + 0.0779
4000 8_—
6000 |— I
C ol
8000 — L
e e e e e g 3
2E aTr
15 [ |
04 i
3 L
-0.5 i
_l :
—l_g ol bV il P

0
8 6 4 2 0 2 4 6 8



(ppm)

corr_Adet_evMon2 RMS

(wdd) sy

V' LvOy
€'Lvoy
¢'Lyoy
T'LvOv
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y



corr_Adet_evMon3 (ppb) 1D pull distribution
_ X2 / ndf 5.454 | 57 H
800 — po 11 63 + 39 52 Mean 0.002419 + 0.04027
: : -? Std Dev 0.3066 + 0.02847
600 — 35~
— r Underflow 0
400 r ® [ Overflow 0
- ° S0
— i X2 / ndf 2/1
200 : Constant 47.09 + 8.99
[ X ] [ ] P 25
®le ] ? ? * ? ole 77 L Mean  -0.08872 +0.03446
Ui eeTTe [0 oL (LiTTTe * T (% r
'y ® [ X) ® ) [ )
oLl® P ® Py 20 Sigma 0.2563 +0.0319
-200 * [ 11
15l
—400— C
Loy 1wof
1.2 : C
4 i
Q.4 5r
0.2 L
oY - Al
-1 obt o L
. -8 -6 -4 -2 0 2 4 6 8




(ppm)

corr_Adet_evMon3 RMS

V' LvOy
€'Lvoy
¢'Lyoy
p 1 L0V
0'L¥0Y
v'oroy
€90y
290y
T'9voy
0'9v0Y
v'svoy
oRe14014
[ac1404
T'svoy
0'sv0Y
2704
<oy
T'vvor
o'oY
€evoy
2'evoy
T'evoy
0'evoy
v'evoy
£eroy
c'evoy
T'evor
0croy
€Troy
¢ TvoY
T1voy
0'TvoY
7' oroy
£0oroy
2'ovoy
T'ovoy
0'ovoy
7'6E07
£'6E07
2’607
T'6E0V
0'6E07
S'LE0V
v'.E0V
€',e0v
¢'Le0y
T'Le0v
0',E0v7
7'9E0Y
el 4
2'9e0y
T'9g0r
0'9g0Yy
v'seoy
€'9E0Y
2'Se0y
T'seor
0'sE0Y

o [ce]
N —

(wdd) sny

©
—

<
—

AN
-

o
—

(oe]

©

<

N



corr_Adet_evMon4 (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution
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